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Abstract

According to industrial disaster statistics by the Ministry of Labor in 2006, out of 11,688,797 people working
at 1,292,696 business places that apply Industrial Disaster Indemmnity Act, 89,910 workers were involved in an
accident that more than 4 days of medical treatment requires. Among this figure 2453 people lost their

precious lives.

"89910 industrial disaster victims per annum” is showing the safety level of our industrial situation.
To prevent such industrial disaster, the most typical and distinctive method is Accident-free Campaign. At
the beginning, the movement arose with devotion through out the entire industry. But, the heartbreaking fact is

that the fever is getting cool gown as times goes by.

Therefore, opportunity for revitalization of this movement is required. The movement should be practically
supporting principle of respect for human life and dignity. And it should be established with analysis on
industrial disaster and systematize Accident-free Campaign totally in connected research.
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